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(E # #h)
1 1 7 A v
0.188 0.125 2.08%10°
R 2 "R [GED)
| EHDMH,0,]EREREMNLEAFILTLNS
i
i3 i 4
1.11X10% / s ©, ®
2 [ GHAEFR)
2.9 _ [CH;CO07][H*]  [H*]?
27 [CH3COOH] ~ [CH3;COOH]
£ o T, —logyp[H*] = —logyy/ K, X [CH;COOH]
= —log1v/2.0x105 x 0.10 = —0.5 X (log2.0 — 6) = 2.85
2
FEEE
i 3 4
_ [CH;COOH][OH™]  [CH;COOH] _ [H*][OH"]
_ [CH4COOH][OH"] "~ [CHsC00-] [CH3CO0-][H*] 1
b [eH,c007]
EoT, K =W
>, h = K_a
R 5 GGHAIE L)
8.7 o xKe Ly e | KX K
[0H"] = |[CH5C00 ]XK_a [HY] = [CH.C00°]
U UL, [CH;COO ZAIIEE 0.10 mol/L O34y Tl 2 FICIERE LT,
41 [20x 1075 mol/L x 1.0 x 10~** (mol/L)? _ ~
(7] = J 0.5 x 0.10 mol/L =20x107 mol/L
pH = —log;o[H*] = —log;((2.0 x 107™°) = —0.30 + 9 = 8.7
B oR W




K 5
it & A M E ) 05
(E # #h)
(GOl s A4 1H
K CaCo, H Ca0 H Ca (OH) ,
£ R R
e, Ca(OH), + CO, — CaCO; + H0
b CaCO; + H0 + €0, — Ca(HCOy), (Ca® + 2 HCO, & H])
i 3 i 4 ‘
@ 2R i Eie ®
i 5 2)
1) Ag,Cr0, 0. 0820 mol/L
3) 3) G il )
5 44 WAL A & OYEEITY mol TH Y, ML T AOYEEIL0.5Y mol & 725,
B e sy AOREIE, 40.1 + 35.5 X 2 = 111.1 RO T
Wik AOEEIE, 1111 X 0.0820 X 0.5 = 4.5551 (g)
b, LIENST, X = 10.00 - 4.5551 = 5.4449 ~ 5.44 (g)
(2 M1 7 A 7 i 2
. " ©)
A AR HEN Bics
il 3 i 4 )
50, ™ + 2 — Cu
i 5 (EE=RE)
1 1.0 mol| |z L= : 166 X 60 + 40 = 10" (s)
FNTESE 19.3 X 10* = 96500 X 2C
AT EFOWE & : 2.00 mol
M L7-CuE & - 1.0 mol
2) (EE=R) B
0.95 mol Bl TSR L 7-CuD B & x mol
) IR CIRfRE L7 ZnDOWE & : vy mol &9 %,
x +y= 1.00 ®
300.0 - 236.0 - 0.4 (BHfmIE) = 63.6 (g) &V
63.5x + 65.4y = 63.6
O, @%&Y, x =0.9473 ~ 0.95 mol
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